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EE - BRE=ER Hy 12 12 12 12| 13 14 14 13 14
ZE 4 5 4 5 5 4 4 5 4
HIE =8 HES 4 5 4 4 3 3 3 3 3
73 3 2 3 3 4 4 4 4 4

SECEL : 20
EB=E - BEIfZEZER : 18
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mﬁ
?)]EPH%;EE EEhval
7.0 1 1 1 1 1 1 o 2 1
=P iReEE Hzr 11 12 12 11 9 12 12 12 11
ZEl| AT AT AT [N Ay Raa T FAET ST 14 |

7‘JJ=|=.=%EE 18-20
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7748 (L‘,{EE%BZ%@U)

- ?a%zm?_ 1 2 2

(2 ESEE 2 2 3 2 5 2
E li SR BERS 2 3 2 1 3 1 3,4 1 3,4
4 EESES 3 8 3 5 8 4 7
Wi 572 5 8 3 5 3
Bt XAERREE 6 4 7 8 6 7 8 5
BRI EE KA EIE 4 9 6 7 8 9 6
Flll = F&sH 7 5 6,7 6 7 5 13 7 13
(9 | :1u§ﬂﬁ’3l1§ 6 7 5 8 9 9 5 10

[Ehap 8 10,11 9,10 9,10 10 10 9 11 9,15
R Rt 9,11 12 12 11 11,13 11 10 12 10
E) 10 13 13 12 12 12 11 13 11
(13 | @%7;‘213% 13,14 4 11 4,14 4 4 14 6 14
E0gd] 12 14 13 14 13 12 14 12
THEFNERENIRE 15 15 15 16 14,19 20 19 21
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% (LXEEHBZ%@'U)

Jﬁuﬁ/ﬁa 16,21 16
ELEF 17 18 17 17 20 16 16 16 18
SKIEE 17 16 18 15 15 15 16

(10 ==l 18,19 22,23 18,19 18,19 21 22 21 22

20 BEFESAE 16 15,17 17, 18,19 17, 17,
18, 20 18,20 19,20

i EroitE 20 19 20,21 20,21 22 21 22 21 22

%387 R B &H 22 15,21 22 22 23,24 23

AME R 51U 23 20 23 23 25 24 25 23,24

L)1 24 24 24 24 27 25 26 25

BEHEE 25 14 25 25 23 6 23 8

BEHEGE 25,26 24 26 24 26

B 572 26 25 26 26 27 26 27 27 27

(28 REHES 27,28 26 27 27,28 28,29 28 28 28 28

29 ERIEES 29 28, 29,30 29 29 30 29 29

29, 30
HEK#Et 30 27 28 30 30 30 29 30 30

6
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H:'.EE*/FEZ%:E—EEEFE
h@mé 1.00
2 FIEEM 0.67
3 EXn#E- - EREASI 1.22
4 HEI 0.78
5 BRE 0.56 —
6 —IJ_RAZENKE 0.89
7 EBACERARENEE 0.78
8 —I—RAEHR 1.11
9 _RERFWEE 0.89
10 B7#E 1.44
11 =KL 1.22
12 ®&5n 1.00
13 BREAMEE 1.22 4+
14 #A5 0.89
15 YHEFERESRE 1.00
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IR SRR AT

T BEHIRER
16 BEHEIE 0.56 =
17 ALEF 1.00 **

18 KEE 0.78

19 =—mAE 1.33 &
20 EAEZ(Y 1.56 4+
21 [ENHE 1.22 4+
22 ZEEREFER 0.89

23 BB KFM 1.00 4+
24  EE) 0.89 4+
25 HIHRE® 0.89 4+
26 HE#HRA1E 0.67 4+ +
27 [ERE 1.00 4+
28 X 1.33

29 #HETEER 1.22

30 EAX#HmE 1.00
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1. Hﬁﬁmi
2012 | 2013 2014 2015 2016 2017 | 2018 2019 2020
-H”ximf 5 3

—»

DSE 2012 %~ %5 5 &
LA

m+2n+6=2m-n=7

[
Find n.

75E ]
A.-4 B.-1 C.3 D.11
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2. BEHEE

JE&H/E%E 16,21 16
DSE 2013 & 55 16 4

—»

The diameter of the semicircle ABC is 3 cm.
AC =2cm

[

Find the area of the shaded region correct to the nearest 0.01 cm?2. A B

2 10
A.0.23cm® B.052cm® C.0.64cm’ D.1.07cm?
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CH R SRR Y SR

® EFAE
2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020
B2 25,26 24 26 24 26

DSE 2017 % . 25 24 {2

Al
L is perpendicular to 9x — 5y + 45 = 0.
The x-intercept of L is 3.

il
Find the equation of L.

HETH
A.5Xx+9y+15=0 C.9x-5y+15=0 1
B.5x+9y+27=0 D.9x-5y+27=0
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B

g(x) = ax’ + 4ax” — 24, where a is a constant.
X + 2 is a factor of g(x).

————————————————————————————————————

i o HAR 2. 34FEE - RN EENMEA L EIE |
Find g(2).

- 9(-2)=0

== a(—2) + da(=2)2 — 24 = 0

A. 96 B

B.0

9(2) = 3(2)° + 4(3)(2)*> — 24 = 48
C.3

D. 48 %% . D. 48

12
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y ] [l
| ' L:x+ay+b=0

Lz\ L:bx+y+c=0
/] o [ #H
70 ~ Which of the following are true?
l.c<O0 Il.ab<1l Ill.ac<b
BEH ‘o B 45 BEE - HRER
A.l and Il only C.llandlllonly e EE#E x &EE |
B. 1 and Il only D. I, Il and Il ‘o LBy EEE |
‘@ LR :

"""""""""""""" 13
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y Li:x+ay+b=0 Lifg X EhiE = —b  Lofyx&hpE =S

b
Lo:bx+y+c=0 o
\ LlEl’\Jy%EEE:—a Loy y &k = —c
/ « LiRIE = -2 LRI = b
/7 0 ~N

. Liyy#EIE>0%c<0
. LifyRlZE>0= a<0
LiFURER > LAyRlE » ab < 1
. LiAYy &8iFE < LAYy 8kfE » ac > b

D

$Z 1 A.land Il only

14
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The 1st pattern consists of 3 dots.
For any positive integer n, the (n + 1)th pattern is formed by adding
(2n + 1) dots to the nth pattern.

000
Y - ) _eee [ ) ..
00000

P

Find the number of dots in the 7th pattern. i o £E7 :

'@ itk ?

BEIE ‘o HWEME? |
A.15 B.27 C.38 D.51 R | 15
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E 12 &

£ 1{EEZE -3

2 HEZE »3+2(1)+1=6
HEI3EEZE »6+2(2)+1=11
FEAEHEZE » 11+23)+1=18
%5 (HEZ » 18 +2(4) + 1 =27

%6 (EEZE »27+2(5)+1=38

F 7 EEZE » 38+2(6)+1=51

16



TIRERERY

DSEsit 8 73 il
8 L 5% #2020

% 18 &
EA
ABCD is a parallelogram. D E A
E is lying on AD such that AE : ED =2 : 5.
CB is produced to F such that BF = DE. s G
Denote the point of intersection of AB and EF by G. H
BD and CG intersect at H.
The area of A AEG is 48 cm”. C B F

I ik *% B _ = AN :
pE : @%Eﬁ = Wu_fﬂ/éﬁ@% :
Find the area of ACDH. | - FALLEF A (ﬁj :

: A, \ 4, A :
— - BRI b //§§>\\ ;

: AABC fJiEif& _ BC !
A. 98 cm’ C. 420 sz i AACD E%%E% =D 5 . D i 17

B.343cm° D.588cm” |
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D 5k E 2k A
7n 48 cm?
G
C 7k B 5k F

2
ACBD ~ AAEG » ACBD IYHEfE = 48 x (9 cm? = 588 cm?

ACDH RS : ACBHIHFE=7:5

cm? = 343 cm?

7
A CDH #YEfE = 588 x
7+5

18
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EAl

ABCD is a circle. AB =10 cm, BC =5cm, B

/ZABC = 90° and ZCED = 40°.

| C
Find CD correct to the nearest cm. A

15T E~~ D

A.5cm C.7cm E. Bl 2
B.é6cm D.8cm .

19
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AC = \/10%? +5% cm = /125 cm
AC ZEIVELR -
ZADC = 90°

CD
sin 40° = —
AC

CD=7cm (¥r1 B¥&ZiTcm)

20
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B

Consider the integers: 3, 3, §, 8, 8, 10, 12, m, n
median = X, mean =y and mode = z

range = 9
i
Which of the following must be true?
. x=8 Il. y=8 Ill. z=8

|
I ‘o EEFBUABN |
A.lonly  C.landIll only & SRAMBERIEE |
B.llonly D.Ilandlll only ‘o IEEREIE :

e e e e e e L B B i |

21
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Sy 9 ® mAl n BY{EAE 3 84 12 2 (EfE 371 12) -
I R I (2 LE R

& m=n=3- JI9% (mean) = % K EH (mode) =3 - ® A—7EE 8 x

. B 1 (m AT n ZEVINREEER 8)
33 mn 8 8 8 10 12 = thfiyF (median) =8

IFh 2 (m Al n HAEHEHF—E/NR 8 > {RE% m <n) /
33 m 8 8 8 n 10 12 = tfiy¥ (median) =8

{553 (m Fil n #kH 8) =
3388 8 mn 10 12 = =fiy¥ (median) =8
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EAl
The roots of (log. X)?> — 10 log. X + 24 = log, X are « and .
1
Find af. EO OB RAENAE E
‘o MRAIA] :
437

A. 1%  C.logs 10 l0gx o, log: f ® y* - 11y + 24 = 0 HIRIIR
B.7% D.log. 11 log- & + logx f=—(-11)
log: (af) = 11

aff = ntt

At .
=Z ‘B. gl

23
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Three sides of a triangle: 4x + 3y = 24,
4x — 3y = 24,
X=a

x-coordinate of the in-centre of the triangle is 31.

=i

Find a.

B o m N
A15 C.45 & PILER
B.31 D.51 o EiE |

24
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y X=a
/ PEIEIER =a - 31
Ax + 3y = 24
NS
10 $ 6 \/
8\/ . (31, 0) a—31
K~y >X
5 a—31:25
N 8 10
a—31 a-51
4x — 3y = 24 \
25
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X2+y?>—6x+cy—-7=0andx -y + 9 =0 intersect.

H P m === —— = 1
——r & B—ITT_RAZ |
Find the range of valuesofc. «_________________ -

2x2+ (12+c)x+9c+74=0

BEH intersect ® A >0

A.-56<c<8 (12 +¢)? - 4(2)(9c + 74) 2 0
B.-8<c<56 c2— 48c — 488 >0
C.c<-b6orc=>8 (c+8)(c-56)>0

D.c<-8o0rc>56 c<-8orc>56

:D.c<-8orc=>56 26
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Cut off percentage ({£££:%)

- 2020 | 2019 | 2018 | 2017 | 2016 | 2015 | 2014 | 2013 q:i’J%l S ¥R

o** 94% 90% 90% 93% 92% 93% 92% 89% 89% | 91.3% 4
5* 87% 84% 83% 87% 86% 87% 87% 81% 82% | 84.9% 39
5 79% 76% 17% 82% 78% 80% 79% 74% 79% | 78.2% 36
4 62% 65% 63% 67% 66% 65% 65% 61% 67% | 64.6% 30
3 61% 53% 52% 55% 59% 52% 50% 52% 58% | 54.7% 25

e %ﬁ
2

J

ERAGE © 1. http://dse00.blogspot.com/p/core-cutoff.html S

2. https://www.notesity.hk/blog/posts/dse-maths-compulsory-part-cut-off-score
H1Z

71~

5** 29 13 42

4 24 6 30
4 57
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29 13 42

5**

u 28 11 39
27 9 36
24 6 30
21 4 25

EEPFEELIRREH :

28




ERBER
DSEsii =8 73 il

48 E %2020

EATEER  BUDNEES auck@ipsme.edu hk
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